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B3 —2 FEMICERTILBESNOERICEIHEER (1/2) _ _ _ _ REEE | FERRISEE
2EFHOAE | BRES | 139A1018 | B4 BT FRTEHh | ERTHhEHET
SYERIHhD FTin(ChEEd 51 ih SMERIHR
ﬁg TREOBEBOSILEHOKRES TREOHBEEILNOKRES TEFEOBEBOEILHOKRES ITWEOHBSILADKES
R ma | BT e | B2 | e | o | | B2 | BT e | B2 | TR | & | T
’ 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = st = -~ = -| Zh st -~ = = =
9 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
3 100kN/mM##BZ 5 -l -~ = -|3mEBZ S -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
4 100kN/mM%E#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
7 100kN/m##8 %% 1.00{ 0.00 ~ 1.87 128.73| 3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.75 ~ 18.53 128.73| 3m%x#B 25 =l ~ - - =
s 1.00{1.87 ~ 9.65 100.00f Z=hki9t | 0.00 ~ 9.65| 2.27 12.15 st 1.00f 5.00 ~ 10.75 100.00f Zhkl4t+ | 5.00 ~ 18.53| 2.27 12.15
8 100kN/m##8% % 1.00{0.00 ~ 3.84 162.61|3m%x##%%|0.00 ~ 2.26 4.05 21.67| 100kN/m#%#8% % 1.00{ 10.53 ~ 82.17 162.61|3m%x#% 5| 25.00 ~ 82.17| 4.05 21.67
s 1.00{3.84 ~ 11.63 100.00f Zhklst | 2.26 ~ 11.63] 3.00 16.05 st 1.00f 5.00 ~ 10.53 100.00f Z=h 4t | 5.00 ~ 25.00( 3.00 16.05
9 100kN/m##8% % 1.00{ 0.00 ~ 3.83 162.43| 3m%x#% %] 0.00 ~ 2.25| 4.04 21.64| 100kN/m#%#8% % 1.00{ 10.53 ~ 81.45 162.43| 3m%x#8% 5| 25.00 ~ 81.45| 4.04 21.64
s 1.00 3.83 ~ 11.62 100.00f Zhlst | 2.25 ~ 11.62] 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
10 100kN/m##8 %% 1.00{ 0.00 ~ 3.67 159.40| 3m%x# %% 0.00 ~ 2.15[ 3.97 21.25| 100kN/m#%#8% % 1.00{ 10.56 ~ 69.79 159.40| 3m%*# % %| 30.00 ~ 69.79| 3.97 21.25
s 1.00] 3.67 ~ 1145 100.00f Z=hlst | 2.15 ~ 11.45] 3.00 16.05 st 1.00f 5.00 ~ 10.56 100.00f Z=hl4t+ | 5.00 ~ 30.00f 3.00 16.05
11 100kN/m##8% % 1.00{ 0.00 ~ 3.82 162.25|3m%x#% %] 0.00 ~ 2.25| 4.04 21.64| 100kN/m#%#8% % 1.00{ 10.53 ~ 70.01 162.25|3m%x#8% %] 25.00 ~ 70.01| 4.04 21.64
s 1.00| 3.82 ~ 11.61 100.00f Zhlst | 2.25 ~ 11.61] 3.00 16.05 st 1.00f 5.00 ~ 10.53 100.00f Z=hkl4t | 5.00 ~ 25.00( 3.00 16.05
12 100kN/m##8% % 1.00{ 0.00 ~ 3.85 162.64|3m%x# %% 0.00 ~ 2.27| 4.06 21.70| 100kN/m#%#8% % 1.00{ 10.53 ~ 70.74 162.64|3m%x#8% 5| 25.00 ~ 70.74| 4.06 21.70
s 1.00{3.85 ~ 11.63 100.00f Zhlst | 2.27 ~ 11.63] 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
13 100kN/m##8% % 1.00{ 0.00 ~ 3.76 161.02| 3m%#%%| 0.00 ~ 2.21| 4.01 21.47| 100kN/m#%#8% % 1.00{ 10.53 ~ 68.54 161.02| 3m%# % 5| 25.00 ~ 68.54 4.01 21.47
s 1.00{3.76 ~ 11.54 100.00f Zhlst | 2.21 ~ 11.54] 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=h k4t | 5.00 ~ 25.00( 3.00 16.05
14 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
15 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
zh st -l -~ - -| Fhiist -~ - = = st - -~ = -| Zh st -~ = = =
=EFR
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B3 —2 FEMICERTHILBESNLERICETHEER 2/2) _ _ _ _ REEE | FERRISEE
2EFHOaE | BRES | 139A1018 [ElieS \ BT |  FREHh ERTHERAET
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ﬁg TREOBEBOSILEHOKRES TREOHBEEILNOKRES TEFEOBEBOEILHOKRES ITWEOHBSILADKES
R ma | BT e | B2 | e | o | | B2 | BT e | B2 | TR | & | T
16 100kN/m##8 %% 1.00{ 0.00 ~ 3.55 157.32| 3m%x# %% 0.00 ~ 2.09( 3.93 21.01| 100kN/m#%#8% % 1.00{ 10.62 ~ 72.33 157.32| 3m%x# % %] 30.00 ~ 72.33| 3.93 21.01
s 1.00{ 3.55 ~ 11.33 100.00f Z=hl4t |2.09 ~ 11.33] 3.00 16.05 st 1.00f 5.00 ~ 10.62 100.00f Z=hl4t+ | 5.00 ~ 30.00f 3.00 16.05
17 100kN/m##8 %% 1.00{ 0.00 ~ 3.52 156.82| 3m%x# %% 0.00 ~ 2.07| 3.92 20.96| 100kN/m#%#8% % 1.00{ 10.63 ~ 70.00 156.82| 3m%x#% %| 30.00 ~ 70.00| 3.92 20.96
s 1.00] 3.52 ~ 11.31 100.00f Z=hl4t | 2.07 ~ 11.31] 3.00 16.05 st 1.00f 5.00 ~ 10.63 100.00f Z=hkl4t+ | 5.00 ~ 30.00f 3.00 16.05
100kN/mM##BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m#%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
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